Esempio Minimizzazione

(partendo dalla rappresentazione
tabulare)



Esempio (tabella stati futuri)

S(ti) |S(ti+1),0(ti+1)| S(ti+1) ,0(ti+1)
X=0 X=1
A A/1 E/O
B C/0 F/0
C B/0 H/O
D E/O F/0
E D/0 A/0
F B/1 F/0
G D(0 H/0
H H/1 G/0




F-H

C-E

B-E
F-H

Primo passo

C-D
A-F

B-D
A-H

S(ti)

S(ti+1) ,o(ti+1)

S(ti+1) ,o(ti+1)

X=0 X=1
A A/l E/0
B C/0 F/0
I[e B/0 H/0
D E/0 F/0
E D/0 A/O
F B/1 F/0
G D(0 H/0
H H/1 G/0

C-D
F-H

B-D
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Secondo passo
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S(ti) | S(ti+1) o(ti+1) | S(ti+1) ,o(ti+1)
X=0 X=1
A A/l E/0
B C/0 F/0
I[e B/0 H/0
D E/0 F/0
E D/0 A/O
F B/1 F/0
G D(0 H/0
H H/1 G/0
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Nuova tabella deqli stati

X=0 X=1
A A1 C/0
B C/0 F/0
C B/0 A/Q
F B/1 B/0

A=H
C=E=GCG
B=D
S(ti) | S(ti+1) o(ti+1) | S(ti+1) ,o(ti+1)
X=0 X=1
A A/l E/O
B C/0 F/O
|c B/O H/0
D E/0 E/O
F B/1 F/O
G D(0 H/0
H G0




Esempio 2
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Soluzione

b I> Stati equivalents T v
X=0 X=1  |x=0 x=1
¢ b=d
g= h a b c 10
] SR
_C A o h 10
e e | f g 10
T 1] D T1
g £ g g |n i 01
I g-h A g i o
d-b i a a 01
g

h \/

a b c d e I’ g h

Next State zZ
State | X¥=0 X=1|X=0 X=1
a b c 1 0
b e b 1 0
c g b 1 1
e c g 1 0
g g i 0 1
i a 0 1




